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Roll No. ...................

M. A. (First Year) Examination, 2012

SOCIOLOGY

MASO - 01

(Fundamentals of Sociology)

(bkYkkHk#kkbÇk Avù Yko\k P’^k)

Time : 3 Hours Max. Marks : 60

Note : The question paper is divided into three Sections A, B and C. Attempt questions

of each Section according to given instructions.

Zkc Ék#TkUÇk &Aù"ä &Bk" ^k &Ck" PmTk BkOMkx Ykx l^kXkklHkP cwä Ék’ZkvAù BkOM Avù lTkRvr#kkTknbkk@
Ék#Tkkx Aùk ¤Åk@ Rx‹

Section - A

BkOM - Aù

(Long Answer Questions)

(RmDkr ¤Åk@mZk Ék#Tk)

Answer any two questions. Each qustion carries 15 marks. 2×15=30

lAùTc{ Rkv Ék#Tkkx Avù ¤Åk@ RmlHk.‹ Ék’ZkvAù Ék#Tk 15 ¢gAùkx Aùk cw‹

1. What do you understand by society? Differentiate between ‘society’ and ‘A

society’.
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bkYkkHk bkv ¢kU ‘Zkk bkYkIkPv cy? &bkYkkHk" PQkk &.Aù bkYkkHk" Ykx ¢TP@ bUì AùmlHk.‹

2. What is socialization? Critically evaluate Cooley’s theory of Socialization.

bkYkkHkmAù@Ok ‘Zkk cw? bkYkkHkmAù@Ok Avù Aoù\kv çk@k ÉkbPnP lbkákTP Aùk ¢k\kkvFkTkk’YkAù Yko\ZkkgAùTk
AùmlHk.‹

3. What do you understand by Social Control? Briefly discuss the various forms of

social control.

bkkYkklHkAù lTkZkTÇkOk bkv ¢kU ‘Zkk bkYkIkPv cy? bkkYkklHkAù lTkZkTÇkOk Avù l^klXkÆk b^kêUkx Aùm
bkgldkÈk ^ZkkBZkk AùmlHk.‹

4. Analyse the concept of social change and explain the linear pattern of social

change.

bkkYkklHkAù Ul@^kPrTk Aùm ¢^kSkk@Okk Aùk l^k#\kvakOk AùmlHk. PQkk bkkYkklHkAù Ul@^kPrTk Avù @vBkmZk
ÉklPYkkTk Aùkv bUì AùmlHk.‹

Section - B

BkOM - Wk

(Short Answer Questions)

(\kDkn ¤Åk@mZk Ék#Tk)

Answer any four questions. Each questions carries 5 marks. 4×5=20

lAùTc{ Fkk@ Ék#Tkkx Avù ¤Åk@ RmlHk.‹ Ék’ZkvAù Ék#Tk 5 ¢gAùkx Aùk cw‹

10. Among following who analyse the role of economic factors in social change?

(a) Pareto

(b) Spencer

(c) Marx

(d) None of them

lTkYTkl\klBkP Ykx bkv lAùbkTkv bkkYkklHkAù Ul@^kPrTk Ykx ¢ksQkAù Aùk@Aùkx Aùm XkolYkAùk Aùk l^k#\kvakOk
lAùZkk?

(a) Uvl@Kkv

(b) bUvTbk@

(c) Ykk‘bkr

(d) £TkYkx bkv Aùkv£r Tkc{
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1. Explain briefly the main characteristics of community.

bkYknRkZk Aùm ÉkYknBk l^k#kvakPk¢kvg Aùkv bkgdkvU Ykx bUì AùmlHk.‹

2. Examine the importance of institutions in social life.

bkkYkklHkAù Hkm^kTk Ykx bkgbQkk¢kvg Avù YkcÅ^k Aùk U@mdkOk AùmlHk.‹

3. Describe briefly the various types of associative social process.

bkcZkkvCkm bkkYkklHkAù ÉklÓùZkk¢kvg Avù l^klXkÆk ÉkAùk@kx Aùm bkgldkÈk ^ZkkBZkk AùmlHk.‹

4. Differentiate between ascribed and achieved status.

ÉkRÅk ^k ¢sHkP Ék†bQklP Avù YkSZk ¢TP@ bUì AùmlHk.‹

5. Discuss primary group with suitable examples.

ÉkkQklYkAù bkYkoc Aùm ^ZkkBZkk ¤UZkn‘P ¤Rkc@Ok Aùm bkckZkPk bkv Aù@x‹

6. Differentiate between Caste and Class.

HkklP .^kg ^kCkr Ykx ¢TP@ bUì AùmlHk.‹

7. Describe the cyclical pattern theory of social change.

bkkYkklHkAù Ul@^kPrTk Avù FklÓùZk lbkákTP Aùm ^ZkkBZkk Aù@x‹

8. Evaluate Parson’s views on social action.

bkkYkklHkAù lÓùZkk Avù bkYWkTSk Ykx Uk@bkTbk Avù l^kFkk@kx Aùk Yko\ZkkgAùTk Aù@x‹

8. Among the following, who described the cyclical pattern of social change?

(a) Karl Marx

(b) Pareto

(c) Durkheim

(d) None of them

lTkYTk Ykx bkv lAùbkTkv bkkYkklHkAù Ul@^kPrTk Avù FklÓùZk ÉklPYkkTk Aùk ^kOkrTk lAùZkk cw -

(a) Aùk\kr Ykk‘bkr

(b) Uvl@Kkv

(c) RnBkmrYk

(d) £TkYkx bkv Aùkv£r Tkc{

9. Among the following, which statement is correct :

(a) We belong to associations not to institutions.

(b) Community sentiment is the characteristic of modern complex societies.

(c) Social institution is a group of individuals.

(d) All statements are correct.

lTkYTkl\klBkP Ykx bkv AùkwTk-bkk AùQkTk bkcm cw -

(a) cYk bklYklPZkkx Avù bkRbZk ckvPv cyä bkgbQkk¢kvg Avù Tkc{‹

(b) bkkYknRklZkAù Xkk^kTkkä ¢kSknlTkAù HklK\k bkYkkHkkx Aùm l^k#kvakPk cw‹

(c) bkkYkklHkAù bkgbQkk ^Zk†‘PZkkx Aùk bkYkoc cw‹

(d) bkXkm AùQkTk bkcm cy‹
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Section - C

BkOM - Ck

Objective Questions (Compulsory)

^kbPnlTkí Ék#Tk (¢lTk^kkZkr)

Answer all questions. Each question carries one mark. 10×1=10

bkXkm Ék#Tkkx Aùk ¤Åk@ RmlHk.ä Ék’ZkvAù Ék#Tk 1 ¢gAù Aùk cw‹

Write True/False against the following :

lTkYTkl\klBkP Avù bkkYkTkv bk’ZkÖ¢bk’Zk l\klBk. :

1. Family is a secondary group. (True/False)

Ul@^kk@ .Aù lçPmZkAù bkYkoc cw‹ (bk’ZkÖ¢bk’Zk)

2. ‘A Society’ is a group of individuals. (True/False)

&.Aù bkYkkHk" ^Zk†‘PZkkx Aùk .Aù bkYkoc cw‹ (bk’ZkÖ¢bk’Zk)

3. The theory of ‘looking glass self’ is given by Emile Durkheim. (True/False)

&¢k’Yk RUrOk" Aùk lbkákTP £Ykk£r\k RnBkmrYk çk@k lRZkk CkZkk cw‹ (bk’ZkÖ¢bk’Zk)

4. Law is a formal mean of social control. (True/False)

AùkTkoTk bkkYkklHkAù lTkZkTÇkOk Aùk ¢kwUFkkl@Aù bkkSkTk cw‹ (bk’ZkÖ¢bk’Zk)

5. Culture is a man made part of the environment. (True/False)

bkgbApùlP UZkkr̂ k@Ok Aùk YkkTk^klTksYkP XkkCk cw‹ (bk’ZkÖ¢bk’Zk)

6. Who gave the concept of Manifest and latent function.

(a) R. K. Merton

(b) Parsons

(c) Herbert Spencer

(d) None of the above.

Ék’Zkdk ^k ¢TPsTklcP ÉkAùkZkr Aùm ¢^kSkk@Okk lAùbkTkv ÉkbPnP Aùm cw :

(a) ¢k@å Avùå YkKrTk

(b) Uk@bkTbk

(c) c@WkKr bUvTbk@

(d) ¤U@kv‘P Ykx bkv Aùkv£r Tkc{‹

7. Who wrote the book ‘Theory of Social and Economic Organization’.

(a) Sorokin

(b) Karl Marx

(c) Maxweber

(d) Pareto

&QZkkv@m ¢ktVú bkkv#k\k .OM £AùTkklYkAŠ ¢kCkrTkk£Hkv#kTk" UnbPAù lAùbkTkv l\kBkm cw?

(a) bkkv@kvlAùTk

(b) Aùk\kr Ykk‘bkr

(c) Ykw‘bk^kvWk@

(d) Uvl@Kkv


